
SAP ABAP table S135 {Value contract, target/release order value}

S135

MANDT [CLNT (3)]

SSOUR [CHAR (4)]

VRSIO [CHAR (3)]

WKTNR [CHAR (10)]

WKTPS [NUMC (6)]

SPMON [NUMC (6)]

SPTAG [DATS (8)]

SPWOC [NUMC (6)]

SPBUP [NUMC (6)]

WAERK [CUKY (5)]

T000

MANDT [CLNT (3)] S135-MANDT = T000-MANDT 0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]
 S135-WAERK = TCURC-WAERS 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 S135-WKTNR = VBUK-VBELN 

0..N

{0,1}

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 S135-WKTPS = VBUP-POSNR 

0..N

{0,1}


